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TL = ML / XL / nL
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A ���������� ML = FH(H/2) - FTV (L/2)
A ������������������� XL = L1+2L2+L3
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FH=KH×W

FV=�1-KV�×W
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W 39200 N
�� H 2000 mm
� L 3600 mm

��� B 1900 mm
� 16 mm
Ae 157.0 mm2

n 8 �
SUS304

fy 205 N/mm2

fu 520 N/mm2

fvy 118 N/mm2

Vy 300 N/mm2

L1 1100 mm
L2 1100 mm
L3 150 mm
B1 1820 mm
B2 40 mm

36260 N/�
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W 8000 N
�� H 2100 mm
� L 2700 mm

��� B 700 mm
� 12 mm
Ae 84.3 mm 2

n 8 �
D 50 mm

SUS304
fy 205 N /m m 2

fu 520 N /m m 2

fvy 118 N /m m 2

Vy 300 N /m m 2

L1 820 mm
L2 820 mm
L3 120 mm
B1 600 mm
B2 30 mm

� N /m m 2

f'ck 21 N /m m 2

fbok 2.13 N /m m 2
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